SECTIONA(40Marks)
Attemptallquestions

Question 1.
(a) The String trim() method does not affect the whitespaces in the middle

of the String (True/False). 2]
(b) Define Instance Variable. Give an example of the same. (2]
(c) What is byte code. (2]

(d) Assign the value of Pi (i) (i.e. 3.142) to a variable with requisite data
type. (2]

(e) The " method of Strings performs the same operation as
the + operator. (2]

Question 2- What is the value-of ‘X’ in each of these cases: (10)

(E) X =++a + at++ - ++a —att] if a=100
(b) x = Character.isLowerCase('E');
(c) x = “abcdef’. endswith (“abc”));

(d) x="INTELLIGENT".substring(2, 7);
(e) x=a[3] /al6lif inta[] ={56,99,-27,55,124,3,-2, 49%;

Question 3- .
i) What are the vaues printed? Show full working. ‘ 2]

Math.pow (25, 0.5) + Math.ceil {4.2);
@/rnt x =12; longy = X;

i) Name the Java keyword that: ' :
(a) stores the address of the currently calling object.

{b) conditionally jumps the control out of the loop




~ (a) Checkeach consec tive cell of t
i ~ (b) Compare adjacent cells of the a

vi) Cnnsider-thé function:
int run (inta, intb)

{
if(a%2==0)
b=b/2;
else
b=b* 30;
return b;
}
What values are returned if the values passed are
(a) 20,99
(b) 55, 60 o
vii) Using a library function,write a single statement to check if a character .
is a digit and store the result in a variable var. 2]
e
SECTIONB(60Marks) '
Attempt any four questions from this Section. The answers in this Sections
could consist of the Pragrams in either BlueJ environment to rany program
environment with Java as the base. Each program should be written using ;

Variable descriptions and
epicted.Flow-

Commentss uchthatthelogicoftheprogram isclearlyd
ChartsandAlgorfthmsarenotrequired.




_ Write a main method to create an object ofthe class arrd r.‘a]F
~ member methods

Question5.
‘Write a program to input, check and print whether an inputted nu‘mher‘ is 3
Abundant Number or not.

[An abundant number is a number that is smaller than the sum of its f i
Sum is calculated excluding the highest factor that is the highest factor is
T taken into the sum] 2 e

For Example: 12. e
Sum of its factors, exciuding the highest factor(12) = 1+2+3+4+6 = 16 1

12 is smaller than 16, so it is an abundant number.

ter Question6.
[2] Write a program to accept a name and check whether the given name isan

odd name or not.
[A name is to be said an odd name if the ASCII code of each character is an
' ¢

d number,

ons
am /lie. The ASCII number of ALL characters should be an ODD number, oth
ng itis not. ] For Example : SOMU. ASCII of Sis 83, ASCIl of Ois 75, qva

- of Uis 85.
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